MAC 1114 Extra Problems Test 1 (17 problems)
1. Use a proportion to find the degree measure of the angle between the two hands of a clock at precisely 3:30?

Answer:  75° 

2. Convert the decimal degree angle 12.317° to degrees, minutes, and seconds. 
 Round your answer to the nearest second.

Answer:  12° 19’01’’

3 In the diagram below, triangle ABC is similar to triangle ADE. 

Find the length of the side 
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Answer: 6 

4. Which trigonometric ratio gives the ratio x/y in the right triangle pictured in the figure below?
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Answer:  cos θ

5. Find b (to one decimal place) in the right triangle in the figure below.
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Answer:  8.43 cm 

6. Find θ (to the nearest minute) in the right triangle in the figure below.
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Answer:  72° 33’

7. From one point on the ground, the angle of elevation to the top of a tree is measured at 37°. From another point 25 feet closer, the angle of elevation is 48°.  How tall is the tree?
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Answer:  58.6feet; 

8. In the following:

a) Convert 55° to radian angle.

Answer:   11л/36

b) Convert the radian angle 1/9 to a degree measure.

Answer:  20° /л

9. In a circle of radius л meters, find the angle, in radians, subtended by a 3-meter arc.

Answer:  3/л radians 

10. If sec= - 2 and sin≤0, find the exact value of cot(x) csc(x) .

Answer:  -2/3   

11. (-2,
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) is a point on the terminal side of an angle θ.  Find the exact value of sin θ.

Answer: 
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12. Find the following trigonometric ratios of the triangle:
         4




   α



cos θ =    

tan (90°- α) =

csc θ =

       5                 3

                     θ



cot θ =


tan  α = 

sec (90°- θ) =

13. The angle of elevation from the top of a short building to the top of a taller building is 20°.  The angle of elevation from the base of the short building to the top of the taller building is 38°.  If the shorter building is 150 meters tall, what is the distance between the two buildings? Answer: D=360ft
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 not to scale
14. The angle of depression from the top of a tall building to the top of a shorter building is 20°.  The angle of depression to the base of the shorter building is 38°.  If the shorter building is 150 feet tall, what is the height of the tall building? Answer: h=281ft
15. Find the six trigonometric functions values of the angle 
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 in standard position, if the terminal side of 
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 is defined by 
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16. Complete the Following Table
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	θ
	sin θ
	cos θ
	tan θ


17. Find the exact values for each trig function. Draw the reference triangle. Check your answers using your calculator.

a) sin (-5(/6) =

b) cos (-7π/2) =

c)   tan(7π/3) =

d) cos (2(/3) =


e) tan (7(/4) =


f) tan (-3(/2) =

g) sec (2() =


h) cot (-5(/3)=


i) csc(7π/6)=
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